AUSTRALIA




Retractable Arms System

- Monobloc system with retractable arms.

- The supports (for the arms, tube, gear or motor) are fixed on the
40x40 mm sguare bar, which allows to move/centre the arms easily

at the desired distance and add two or more arms.
- Die casting made arms brackets.

- The arms inclination and position can be adjusted at the factory,

saving then time during the final installation,

Set of retractable Premium arms (2,25 m)

Set of die casting Premium M1 support, arm to square bar
Jeu supports coulés bras/barre M1 Premium

Set of square arftube M1-M2 supports with ilon bushing. screws and caps

Set of caps for bar/tube M1-M2 supports
Enjoliveurs support axe/barre M1-M2

Set of frontal adjustments for Premium arm

Die casting wallicelling M1-M2 supports with 2 holes, screws and caps
Support mur cowlé 2 trous M1-M2 avec vis et embouts

A0xA0x3 square aluminum bar

Bambu3 profile
Profil Bambu3

Set of caps for Bambu3 profile
Galvanized reund tube with cgive

Tube rond & gorge galvanisé
Round cap of 70 mm with round pivot of 12x20 mm

Logos 50 motor
Moteur Logos 50

50 series bracket (built in and awnings)
Adapter for 70 mm tube with ogive
Accouplement pour axe de 70 mm ogiva
Cronos 1 remote control

8008-1111
8008-398
8008-875
8008-236
8008-410
8005-334

o

6005-101
6007-14

6009-118

Set of die casting Premium M1 suppert, arm to square bar
Jeu supports coulés bras/barre M1 Premium

Set of square barhube M1-M2 supports with ylon bushing, screws and caps.

Set of caps for bar/tube M1-M2 supports
Enjoliveurs support axefbarre M1-M2

Set of frontal adjustments for Premium arm

Die casting wallicelling M1-M2 supports with 2 holes, screws and caps
Support mur coulé 2 trous M1-M2 avec vis ef embouts.

4Dx40x3 square aluminum bar

Bambu3 profile
Profil Bambu3

‘Set of caps for Bambus profile

Galvanized round tube with ogive
Tube rond & gorge galvanisé

Round cap of 70 mm with round pivot of 12x20 mm

Driving round cap of 70 mm with square pivot of 13x33 mm
Embout méle cété manoeuvre, sortie carrée de 13x33 mm

Ciclon gear 1/11, 120 mm eve, rolled

Lacquered handcrank, zinc plated steel hook (1,50 m)
Manivelle laquée crochet zingué (1,50 m)

Polyamide handle lock

8008-1111
8008-185
8008-398
8008-875
8008-236
8008410

B005-334

8003-17




Retractable Arms System

- Monobloc system with retractable arms.

- The supports {for the arms, tube, gear or motor) are fixed on the
40x4 quare bar, which allows to move/centre the arms easily at the
desired distance and add two or more arms.

- Extruded arms brackets.

- The arms inclination and position can be adjusted at the factory,
saving then time during the final installation.

A M2 WITH GEAR

‘Set of retractable Premium arms (2,25 m)

Set of retractable arms (2,25 m)

8008-815 8008-815

Set of extruded Premium M2 support, arm to square bar Set of extruded Premium M2 support, arm to square bar

8008-995 8008-995
Setof square baube ML-M supports with yan bushing, scews andcans g0 1o | Setof square barRube MI-M2 supports withon bushing, screws and caps g0 1 o

Set of caps for bar/tube M1-M2 supports Set of caps for bar/tube M1-M2 supports

8008-398
Set of frontal adjustments for Premium arm 8008.875 Set of frontal adjustments for Premium arm

8008-398

8008-875
Die casting wallfcelling M1-M2 supports with 2 holes, screws and caps 8008-236 Die casting wall/celling M1-M2 supports with 2 holes, screws and caps 8008-236

40x40x3 square aluminum bar 8008410 7 40x40x3 square aluminum bar 8008-410

Bambu3 profile Bambu3 profile

8005-334 8005-334

Galvanized round tube with ogive 800317 Galvanized round tube with ogive 800317

Round cap of 70 mm with round pivot of 12x20 mm Round cap of 70 mm with round pivot of 12x20 mm

8002-38 8002-38

Logos 50 moter | B Driving round cap of 70 mm with square pivot of 13x33 mm
- 6005-101 Embout male coté manoeuvre, sortie carrée de 13x33 mm  S002-28

50 series bracket (built in and awnings) 60083 Ciclon gear 1/11, 120 mm eye, rolled 8001-192
‘Adapter for 70 mm tube with ogive 6007-14 Lacquered handcrank, zinc plated steel hook (1,50 m)
: : : St Manivelle laquée crochet zingué (1,50 m)

Polyamide handle lock-

8009-10

Cronos 1 remote control

6009-118 7010-39




Premium M1

Recommended for up to 6,00 m width and 3,00 m arms projection,
or 5,00 m x 3,560 m, with 2 arms.

Assembly for up to 9,00 m width x 3,00 m projection with three arms,
although it allows larger dimensions thanks to the possibility of making
joints and adding more arms.

Assembly with the gear outside, inside, to the left or to the right, and with
motor.

Assembly option with Spiral box and Flat Hood,

Cutting instructions

Cutting measures for minimum width (m) / Mesures de coupe pour largeurs minimales (m)

At et 135 150 175 200 225

2 arms awning minimum width

/e awtig MBATUTE Mgt 2493 2870 3248 3745 4122

Quantity universal support el
4 arms awning minimum width

 Quantity universal support

Premium M2

Recommended for up-to 6,00 m width and 3,00 m arms projection,
or 5,00 m x 3,25 m, with 2 arms.

Assembly for up to 9,00 m width x 3,00 m projection with three arms,
although it allows larger dimensions thanks to the possibility of making
joints and adding more arms.

Assembly with the gear outside, inside, to the left or to the right, and with
motor.

Assembly option with Spiral box and Flat Hood.

Cutting instructions

1722 1973 2225 2556 2808

2,50

3,060 3,391 3,643 3894 4146
O R
4500 4,997 5374 5751 6,129

SO IS R G B

Cutting measures for minimum width (m)
mjection 125 150 175 200 225
£ S AW R ieLh 1,692 1943 2195 2526 2778
Quantty univrsal support 2 (2023 3

3 arms awning minimum width 2467 2848 3222 3719 4096

Quantity universal support 3 o 3 4 4

o Sams g sl WidU 3241 3745 4248 4911 5413

U,'uanﬂ%;.uhl-.rersaf-.suppmt-

250 275 300 325 350
3,030 3361 3,613 33864 4116
34 4 4 1
4,474 4971 5348 5725 6,103
G o8 I 6 ) s

5917 6,580 7,083 7,586 8089

Premium M1
System assembled
with mator and
xtruded wall
support.

Premium M1
System assembled
with mator and
die-casting
wialliceiling suppon,

assembled with
motor and extruded

System assembled
with motor and
die-casting
wallfeesling suppon.




DESCRIPTION m

Set of Premium retractable arms 1

“ Strength of 2 Premium Arms

DESCRIPTION

Set of die casting Premium M1
support, arm to square bar

Set of extfusmn Premium M2 support,
arm to square bar 1

i DESCRIPTION E

8008-995 White:

DESCRIPTION

g L 9 Setho square bar/tube M1-M2 supports
|
L]

l with nylon bushing, screws and caps
L]

8008-185 White

Transmition bar/tube M1-M2 support with
nylon bushing, screws and caps

gm
|
-

8008-384 White

DESCRIPTION
Set of caps for bar/tube M1-M2 supports

8008-398 White
** See catalogue for other colowrs

]
L]

n

DESCRIPTION m

M1-M2 central support with screws and caps 1

8008-306 White

« . IR
j’

Set of frontal adjustments for Premium arm
25

8008-875

DESCRIPTION E

Set of lower adjustments for Premium arm
25

8008-885 White:

[ owrm 9]

Extruded M1-M2 wall supports with screws and

taps 10

8008-180

DESCRIPTION
Die casting wall/celling M1-M2 support with 2

holes, screws and caps
3033235
DESCRIPTION

Die casting wall/celling M1-M2 support with
4 holes, screws and caps

8008-241

DESCRIPTION m

A0xd0x1,5 square steal bar
White
[ ostweron [ @
A0xA0x3 square aluminum bar
8008-101 White
B008-410 White

o [ @]

Set of plastic caps for 40x40 square bar 95

8008-202 White




DESCRIPTION m

Set of hood mounting plate for extruded support
(8008-192) 50

8008-355 Natural

Set of hood mounting plate for die casting
support (8008-236/241)

8008-354

DESCRIPTION ' - I:I - - - - I E
- III - - - - - l

I _ lIl E D :I E |:| l
Sl o 2t = El:l:][:l:l[:]l:l
8008-1321 - |:I l:l I:J I:I E l:l l
IE'il o o
8008-1328 : |:| : : |:| I:H:I
SESGRPTON :I::I:JI:I::I
—

Length (m) Class 0
1t does not-fulfil the requiremeants

sl WATER FLOOI

Class 2

Class / Clase

Class 3

IM Impossible to assemble

Cutting the tube and the square bar (Premium M1-M2)

s Gear X-15,00cm X-3cm

2080 Mntnr X- 13,50 cm X-3cm
- Gear X-13,00cm X-3cm

Mator X-11,50 cm X-3cm

X= Total width



Premium M1-M2

Retractable Arms System

( EN-1933:1999 Water resistance selection abacus

Premium M2

2,00 2.50 3,00 3,50 4.00 4,50 5,00 5,50 6,00
—— [ W w W ow W owowow
S - ] e e | __JC_l woowo
—“—‘ e BN o | w | | I =1
___J[__J - | ;{_ = i [= | | | | s
_1;1 T | — — E— E———

2,25 —— e : . ~ — 2,25

5.50 6,00

| —— — - — -
—H—I 1,75 l — | -H-- H-. - ] I I I I | 1,75
_H_l 1,50 | | H I I | I |I I A : 1,50

o ¥ 2 2 Ny 22 Z
L J S L Aee - 2 L A . £ '

S — R .

ferent classes have been fulfiled according to the described conditions at Gaviota Simbac initial tests,

WIND RESISTANCE
) RESISTANCE Class Maximum Wind Speed Pressure

Water Flood Resistance

PREMIUM M1-M2 MOTORIZATION
Arms projection in meters Width in meters
3,00 4,00 5,00 6,00 7,00
: LPGQS 40/ GM 4':_'
Lo 40

LOGOS 30/ GM 30
LOGOS 30/GM 30




CROCI AUSTRALIA

88-90 Derby Street, Pascoe Vale, 3044
Tel: (03) 9354 4777 Fax: (03) 93541944

sales@croci.com.au
Www.croci.com.au

For more information: / P




